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e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.
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attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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59T Y &1 I Uk JTaFT H &7 39T 2 1

(iv) Io7 G&IT 5-6 3K 17- 18 THIHE J97 8, 578 T35 & 3 3% & |
Jedh &1 I GIHTIT: 60 Isq] & 37fer 787 17 =iy |

(v) T G T7T-9 3R 19-21 Y TLHIHE J97 8, 579 59% & 4 375 & |
I HT IR GIHI=IT: 70 Jed] @ 371 a1 5147 =1fzy |

(i) ¥ &I 10-12 3K 22 - 24 I F0cAS 97 &, 575 39% & 6 3%
& | Y% 7 I GrET=Id: 100 Jsql & 37fee 787 §H7 F1fa0 |

(vii) IR TITTT TIT TEIICHSE &7 TIET TIT JIEYT ST &1 T Iow FHT @ SIAld
&7 faw a3 =nfew

General Instructions :
(1) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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(MICROECONOMICS)
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(M) e gfd
() @R gfd

The coefficient of price elasticity of supply of a good is 3. It is known as
. (Choose the correct alternative)

(a)  Unitary Elastic Supply
(b)  Perfectly Inelastic Supply
(c) Elastic Supply

(d)  Inelastic Supply

2. Teu mu fum H, IEA w9EAT 9% XY, W 6 A § X,Y, W f5g B &
Rewerma AT B ¢ (IUYh fIehed 1 =TI ) 1
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Shift from Point A on Production Possibility Curve X;Y; to Point B on

X5Y, in the given figure indicates : (Choose the correct alternative)

Good Y

(a) Decrease in resources
(b) Increase in resources
(¢) Full and efficient utilisation of resources

(d) Wastage of resources

OR

A Production Possibility Curve (PPC) would be convex to the origin if

Marginal Rate of Transformation (MRT) is . (Fill up the blank)
8. YUl Sl § SfIEd TuIfed a5k 1 SAhR BT |

(feh TomH Rl qfd )

The shape of the average revenue curve under perfect competition would

be . (Fill up the blank)
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Mention any two examples of implicit cost incurred by a firm.

OR

Define variable cost.

5.  “fores fou 3cqreq foman S’ &) Shdi g9 w989 § == HifSu | 3

AT

Fataiaa weat =, 3faq wron afgd Twrrcas Tdvms a1 3Tesie TR
# Fffepa ShIfTT : 3
(%) TEHR HI Fgd gL UTHINA =1 I =01 § TH o JI™ - =10 |

(@) dawafas dhd We] 3G (GDP) H M1 ‘ongr a9 H hmdr
YR T I S R |

Discuss briefly the central problem of “For whom to produce”.

OR

Classify the following statements into positive economics or normative

economics, with suitable reasons :
(a)  Government should try to control the rising fiscal deficit.

(b) Real Gross Domestic Product (GDP) is calculated on the basis of

‘base year price’.
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6. U Hicqeh Y I FAN A BY, HA IWNTAT a1 HHq TR 6
s g9y i == i |

Discuss the relationship between total utility and marginal utility, using
a hypothetical schedule.

7.  IUYH 3¢TEN I wEEar ¥ “Hiua faug” qur “avg fauder’ & a1d i
ey o ==t i |
e
gl gfcRfirar & Sfarid T ®H hiTd-Tiehieh gl 8 AT shidd-FHaies ? o104
IR 1 gfE i |

Discuss briefly the meaning of “Price discrimination” and “Product
differentiation” with the help of suitable examples.

OR
Is a firm under perfect competition a price taker, or a price maker ?
Justify your answer.

8. ol o5 %1 49 T 10 ¥ SgR T 14 &1 a1 7 | FfE 0 1 higa o
O (—) 125, Q1 a%q shi |t 71§ AT | Fiowrd st <hl TUHT HifT |
arera
fraffigd oAl § @ S8 T8 A 77T g ? 0 IW b GHdH H 9y

HRUT T |

(%) a&g h! W HI AT A h TOTh I, 3G TG o Johicush SAN i
AT ¥ ROTTCHh Ty BT B |

(@) foemfear it awgedt i A H Had d= T FH E R

The price of a commodity increases from ¥ 10 to ¥ 14. Calculate

percentage fall in quantity demanded of the commodity if coefficient of
price elasticity of demand is (-) 1-25.

OR

State whether the following statements are true or false. Give valid

reasons in support of your answer.

(a)  The coefficient of price elasticity of demand for the commodity is
inversely related to the number of alternative uses of the
commodity.

(b)  Luxury goods often have lower price elasticity of demand.
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IeaTeH % gufed (TR) | $a @Fd (TC)
(ehredl o) (z #) (z #)
1 20 20
2 40 30
3 60 36
4 80 40
5 100 60
6 120 90

@ TS AT hl FERIAT °, HiHd Fuied — EHIG AFTa [ gRI BH % dde

With the help of the given schedule, determine the firm’s equilibrium

using marginal revenue — marginal cost approach. Give valid reasons in

support of your answer.

58/412]

Output Total Revenue (TR) | Total Cost (TC)
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1 20 20
2 40 30
3 60 36
4 80 40
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6 120 90
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(a)

(b)

ffafad wem § fiu T 9O &9 A ggeE I qur getd
afsrsea it e fHifl

“zg SR H, T % |ft Tur sharedt TR fashareti & fau wHEw B4
%l”

= Faif@ hma sl girivg HINT | 96R g e T g&aad &
GuTferd gy 1 3g@ it | 3+3

Identify the market form and explain the corresponding feature,
as given in the following statement :

“The commodity in this market has attributes which are identical
for sellers and buyers.”

Define Price Floor. State the likely consequence of this type of

intervention by the government.

11. M Sifoe 76 T 3qwiedn faeeht s9ie T 500 7, A & a%qU, a%g X a1 9%
Y 1 IUHNT SHEAT TTET B | Sl <hl hiad sl T 503 T 2578 |
& TS FIA1 o YR R F=fcaiad Tt % I ST

(%)

(@)

()

(%)

IHTEHAT 1 Soie e faifgu |
oI TET <hl Yaurar =T g 2

afe o8 @rqel T 500, S X W o5 Hidl 7, o Tehal SRSl A T
9Tt ?

Ifc a¥q Y 61 HWd g 8 T qA 98 T T 500 I Y R =
FA B, A Teopal STl S T Ul 2 1+1+2+2

HAAAT

“Teh Ui I TgeH TEAT § B o foru, Hiurd ufarem @ # s

aeedl sl hHdl & U o SKEX FAT AR |7 R A9 U T He
U Hd & ? 39 I i g FHifvw | 6
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Suppose a consumer whose budget is ¥ 500, wants to consume only two
goods, Good X and Good Y. The goods are respectively priced at ¥ 50
and ¥ 25.

Answer the following questions on the basis of the given information :

(a)  State the budget equation of the consumer.

(b)  What is the slope of the budget line ?

(c) How many units can she purchase if she spends the entire ¥ 500
on Good X ?

(d) How many units can she purchase if she spends the entire ¥ 500
on Good Y, given that the price of good Y has doubled ?

OR

“For a consumer to be in equilibrium position, marginal rate of
substitution between the two goods must be equal to ratio of prices of
the two goods.” Do you agree with the given statement ? Justify your

answer.

12. (%) oo (R AN 936 S 2781 (x-3181) & THMEIGR F1 il g ?
(@) ofHa gitad! @rTd (AVC) dsh 991 g @rd (MC) 9k o s Jee
TaEmsY | = 1y i | 2+4
(a) Why is the Total Fixed Cost curve parallel to the horizontal axis
(x-axis) ?
(b)  Explain the relation between Average Variable Cost (AVC) curve
and Marginal Cost (MC) curve. Use diagram.

Fie:  [Aelaiegd ge7 Faa gieanea whenfdEr & g, Jv7 G&ar 12(@) &
T T E :

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 12(b) :

sftEa gigd! dra (AVC) a1 Hi|id ard (MC) & 9 99 993U |

Explain the relation between Average Variable Cost (AVC) and
Marginal Cost (MC).
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SECTION B
(MACROECONOMICS)

13. GHR hl fopegl @ TRt Toiea TTfeaat o 3ereeor i |

YT

grasieh &7 o I9hAl (PSUs) U TTod AT, TR o f9¢ &
N1 BT 2 | (FET faehed o1 = o)

+) N T TIieaat
Q) o TIea

) ST feaEt

) ST =2

(
(
(
(

State any two examples of non-tax revenue receipts of the government.
OR

Dividends received from Public Sector Undertakings (PSUs) are a part

of the government’s . (Choose the correct alternative)

(a) Non-tax Revenue Receipts
(b)  Tax Receipts
(c) Capital Receipts

(d)  Capital Expenditure
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14. HH ST foh 39 “ard 6 fam Wt i getresr @fifa” % s gee B | o
T F9ie H 9ed gU TS HIe % HeH H fHfad | |
TIHR % Fgd gL U 91 i =0 § A o e #1E T 39 gmsy | 1

Suppose you are a member of the “Advisory Committee to the Finance
Minister of India”. The Finance Minister is concerned about the rising

Revenue Deficit in the budget.

Suggest any one measure to control the rising Revenue Deficit of the

government.

15.  “|mm smr’ = gfeyfya HifSe | 1

Define “demand deposits”.

16. “3ifcH UG W €9 H hgld S g WS M STl HeR a1 3g@
SHIRTT | 1

State the role played by the central bank as the “lender of last resort”.

17. et srefcaen 1 UMM BeM 8 : C =40+ 0-8Y (U T S H) | 31T &+

3 TR T HER HIT F W TEa a9 Jgi $eh1s o S 8l | 3
HAYAT

3Ed ITNRT Y A1 H1Ed F=d Yqfd, GH1 § § I ROMcHD &l dehdl @ adl

i ? 3

The consumption function of an economy is : C = 40 + 0-8 Y (amount in
T crores). Determine that level of income where average propensity to

consume will be one.

OR

Which of the two, average propensity to consume or average propensity

to save, can be negative and why ?
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18.  JCATRI |9 6T o ARG S0 Ifd § AT 8- W, gaedn § g
HHTATSHT T 9uiA shifT |

Describe the adjustments that may take place in an economy when
ex-ante Aggregate Demand is greater than ex-ante Aggregate Supply.

19. T HEAHS I8 1 FART Hd §U, AHSATSY, HR(ed ST AT H HHl &
g SRt oTTEt <l TR g5 AT fRH YRR YT B @ |

Explain, using a numerical example, how a reduction in reserve deposit
ratio, affects the credit creation power of the banking system.

20. AATIEAT H fohd THR THR Foid Hifcd ST TN hich 3T hi WA hl
A T Hehall & ? THZATST |
AT
SrfeaEe H “HETEH % @ Wl THTIA H H HEhH I51e hl {HeRT I
&g | == hiT |
Explain how the government can use the budgetary policy in reducing
inequality of income in the economy.

OR

Discuss briefly the role of the government budget in influencing
“allocation of resources” in the economy.

21. IEdld® Hohdl B 3CUG hH YR Hifgsh Thal WRel 316 | PE 8 2 T
EATCHe G800 Hlad SRS HIfT |

How is Real Gross Domestic Product (GDP) different from Nominal

Gross Domestic Product (GDP) ? Explain using a numerical example.
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(a)

(b)

(a)

(b)
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foeeft go1 % Stdats o foiu Ser fohedl g Sehi 1 3g@ hHIT |

frfafiea TH-¢1 IS @Ta/=Te] @Td o fohd 98 | fofg ST qer =i -

(1) 9T 9 ITSd k0T 9T ST

(i) =9 ¥ HieTsA BT S A 2+4

HAAAT

YTAH Hgad @d H WA oF-¢F a9 JHeH oiH-gd o sie 3Tat T8
HIRT |

el § Yoagi™ a1 JgT § HAaedd H 3 T HhifT | 4+2
State any two factors responsible for inflow of foreign currency.

State on which side of capital account/current account will the

following transactions be recorded and why :
) Interest on loan received from Nepal

(ii))  Import of mobile phones from China

OR

Distinguish  between  Autonomous and Accommodating

transactions of Balance of Payments account.

Distinguish between depreciation of a currency and devaluation of

a currency.
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23. (&) o @ =+ gfenfya Hifse | a8 fea yer faesn @ g faa
qge A O i R 2

(@) fmfliea oTmehsi § “Ss % Hed i AT HINT 3+3
. Tt
%.9. | @R & FE
(i) | STHCHE = 1,500
(i) | SYQH 700
(iii) | <™ 1,100
Gv) | e d5ft bt s 700
(v) | SR hIHd 9 Hehal Tq] 3cUTG 17,500
(vi) | hETRET T rRerfreh 9,300
(vii) | S9N ?
(vii) | TS <At fufa s 3,500
(ix) | fepmam 800
(a)  Define net exports. How is it different from net factor income from
abroad ?

(b)  Calculate value of “Interest” from the following data :

S. No. | Particulars A.mount
(% in crores)
1) Indirect tax 1,500
(i) | Subsidies 700
(iii) | Profits 1,100
(iv) | Consumption of fixed capital 700
(v) | Gross domestic product at market price 17,500
(vi) | Compensation of employees 9,300
(vii) | Interest ?
(viii) | Mixed income of self-employed 3,500
(ix) | Rent 800

58/4/2 9



24, 9 % TR fag@ § “quret 71 frgra” o1 o= 319 7 ? S1gEE stvan fom
Sl EErEr € ==l i |

What is meant by the “Effective Demand Principle” in Keynesian theory

of employment ? Discuss using a schedule or a diagram.

58/412] 15



